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1. Introduction

This document presents 10 MHz E-UTRA – E-UTRA UL co-existence simulations for the agreed simulations assumptions given in [1].  
2. 10 MHz E-UTRA – E-UTRA UL co-existence results
In this section we present our 10 MHz E-UTRA – E-UTRA UL co-existence simulations results using the agreed simulation assumptions in [1].

As agreed in RAN4#40 the two simulation cases with different UL PC parameters have been simulated. 

Table 1 presented the two UL PC parameter settings that have been simulated.

Table 1 UL PC parameters

	Parameter set
	Gamma
	PLx-ile

	
	
	10 MHz bandwidth

	Set 1
	1
	112

	Set 2
	0,8
	129


Figure 1 - Figure 4 present our simulation results for the mean cell throughput loss, cell throughput loss for 5 percentile point, mean user throughput loss and user throughput loss for 5 percentile point.
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Figure 1 Mean cell throughput loss (ACIR = 30 dB equal X=0 dB)
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Figure 2 Cell Throughput loss for 5% percentile CDF point (ACIR = 30 dB equal X=0 dB)
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Figure 3 Mean user throughput loss (ACIR = 30 dB equal X=0 dB)
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Figure 4 User Throughput loss for 5% percentile CDF point (ACIR = 30 dB equal X=0 dB)
3. Conclusions

In this contribution we have presented 10 MHz E-UTRA – E-UTRA UL co-existence simulation based using the assumptions captured in [1]. 
4. References
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